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52.

——

WrM=-2/Part-2
| Wf 7O / Genersl Intelligence Test

¥ w8 @ T Rrerds i et 6 78 &
M dsaredigag I @ FaIsE?

6837684948436838459378
9

Count each 8 which is not immediately
preceded by 6 but is immediately
followed by ecither 3 or 4. How many
such 8's are there ?
6837684948436838459378

9

_AA) 3

(B) 1 N
© 4 ﬁ
(D) 2

Ttz 2 m sgaen @ it A FY Rt s,
ﬁﬂnﬁ%mmﬁaﬁ&ﬂim%
g 3N TRt g ?
cUBREDEDABEBRUCDE
CADBDUBCACBEDA

If all the A's are dropped from the given
arrangement, which of the following
option will be eleventh from the left end
of the given arrangement ?
CUBAEDEDABEBAUCDB
CADBDUBCACBEDA

(A) C
4B) U

(C) D

(D) E

53, 13 Ry s o e e 2 T |

s 112 é & 1 uren o Gt < @ R
e st & ar foran s & 1 3o fiw g
a7 = weg wr & ofv R Puffa w2
& Rofufag & & 17 € oron F99 &

T | I E N E;
WY : gAT SR AT R HRAaU

THE TH - T I
grrorTd ; 1. HRATt R A FAEE R |
11, et a0 A SCET |
(A) Tf2 Faer umom 1] safEa g
B) afz 3=T uromd 1 3f 11 s €1
(C) af vreom 1 ar uron 11 stafiRa R o
(D) 3T %ae ymon | Safifza g

In the question given below a statement

is followed by two assumptions

numbered 1 and II. An assumption is

something that is supposed or taken for

granted. You have to observe the given

statement to be true and then judge

which of the following assumptions

holds valid according to the statement.

Give answer as :

Statement: Do not copy our software

without our permission — A notice,

Assumptions: 1. It is possible to copy

the software.

II.Such a waming will have some

effect.

(A) Ifonly assumption Il is implicit,

(B) If both the assumptions I & Il are
implicit.

(C) If either assumption I or assumption
II is implicit.

(D) If only assumption I is implicit.
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54. Pl ot e Ry o st | 86, e erg s e Y i
: 56. % e 1 3N
% W fend Ry mo § | Frerdt 71 13 afn a%%??azawwﬁms%mﬁﬂ
R Fratfa =% s Ry mg freed] & § 23 o fts 3 2nd 3w @ rared T T E |
T, 8= 31 A 1 39 w2 g e g S, <1 o & sefe 3 2nd @ vy TH -
el 1 s 9 8 S e R, i & P g 7
&y 30 v I E | Fo Imaws § | wh (A) #&t (B) o (C) (D) T
el Forty boys are standing in a row facing
et 1. Fé‘tﬁ?m?l tl;%hlgunh. If‘m“th is clc;'cml;h &omhlhcﬁlgﬂhf:
II. FoFfawsd) lywyy and Decpak is thirty-first from the
m. wzaE B o e vt A in the
IV, 3 & Im I row, be from Deepak ?
(A) F=a 1 3t IV e § ) (A) 3 (B) $* (C) 4% (D) 2
(B) Faer 113 1) sqErr Fa ¥ | 57. T 3 A= oF faafia & Rrehr
(C) Faa 11 v Fd &) fam st m it & g1 2
(D) Fa 1 3N FTECTFA &1 #1 7 377 A Eﬁngaﬂtd’m'ﬂﬁzr
In the following question statements are & & 1 Tftren a7 A1 h & 1 g, S T Y
e 2, g @ faarfea & i 3w 21 AR

given and these statements are followed
by conclusions. Read the conclusions and
then decide which of the given conclusions

logically follows from the given statements,
disregarding commonly known facts.
Statements Some questions are
answers., Some answers are writers. All
the writers are poets.

Conclusions :
1. Some writers are anSwcrs.

II. Some poets are questions. },-'
[1I. Allthe questions are poets. ) o
IV. Some poets are answers.

(A) OnlyIand IV follows.

(B) Only 1l and 11I follows.

(C) Only Ill and IV follows.

(D) OnlyIandII follows. *

Yy

|

/ [
st

58.

I A A | g wy S S =
1 & ) 37 3 diftven 3 e freen 87
(A) fr-d@ (B) TR VERS

(C) sfa-g=h (D) TTHT - Wit

Rama and Mohan are a mammied couple
having two daughters named Smita and
Devika. Devika is mamed to Aman, who is
the son of Madhu and Jeewan. Romila is the
daughter of Aman. Knshna, who is Aman's
sister s murmed 10 Sunil and has two sons
Anuj and Ankur. Ankur is the grandson of
Madhu and Jeewan What is the relationship

" between Anuj and Romila ?

(A) Father — Daughter
(B) Cousins

(C) Husband - Wife
(D) Uncle - Niece

90 #1 ww wan 8, wel Tfeat oy @
2 &, ot e & eed wmE a g, ofr

55, Prefafas de seen ¥y a7 (7) sfrar & 10 crsfat 3w E, N IWF It
& T U T AT A0 ? frarags &2
What should come in plce of question In a class of 90, where girls are twice
mark (7) in the following number serics ? that of boys, Shridhar ranked fourn
from the top, if there are 10 girls
132 156 7 210 240 272 | it Bow many boys s abead
(A) 182 (B) 204 ; him in rank ? after
(C) 199 (D) 196 (A) 26 (B) 22 (C) 25 (D) 23
N3 y el 4 brlay Nem
® gugl W oge gy b S NNy
T ' e Fe.  S<O—Ftomiri—ad—3 vy %
! - SN TOFG T e
| T( Kivl- .z.\'.»_u./ _
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5. Ha@ﬁt@mmﬁmﬁaﬂtﬂﬂf

mmﬁﬁi%mwﬂu |
Identify thc missing part of the question
ﬁgmmdsclwtitﬁomgnmmmﬁglm
wa SR / Question Figure

XXX
/I/INN
N 9

XIX

marﬁ:ﬁm / Answer Figures
/1/]
» B ® B
NN
© kK ©) PIX

%y (. ®. 60-61) Fra R g e & e et R
T & forerde e v Srgem f e & 1 e mar
¥ g & e IR A JEM A sta ot gt
fR Fae W an svaeaan = fft aa wch Eh
T TR Y T wn @ wikanait 3 fog i

A F e g & F1 e R 0

afyamst % frg st afts wfingor ¥
fore ot yar farg 3 wrfee wfd 3% emrErd
T et &% | T8 witesill & arefnit a9 &
forq R T v @ & g e At St ¥
o7 & § 1 et e 7 At @ e &, eat
A F5 ¥ faes YT I WHW FAH &
forg = man @ 1 wfeen wfvl & g wwR am @
oft gré & qrer R e, yA o ae R gy
wfgerrsit & v it ¥ forg arfus e
¥ smugha g 2
Direction (Q. No. 60-61) : In question below
is given a passage followed by scveral
inferences.  You have 1o examine! each
inference separately in the context of the
passage and decide upon its degree of truth or
falsity,
The Government of India has urged the
State Governments to create more job
opportunities for women. All out efforts are to
be made 1o have more traming facilities for

woen 0 that they can be gainfully employed.

p -

B

It is in pursuance of the

taken by the Governmen
r:IEant.yThc states have been asked to cnd

discrimination against the fair sex s0 far new
jobs are concerned. The same wage for women
workers should also be strictly adhered to, it
has been cmphasized. '

More job opportunities arc being created for
women to cradicate poverty among them.

0. wCETT & 1w Afy & wikena w FH

FA RATE | P N

A) Tf2 I ¥ ¥ § 9’

@ A Ry My awt & s § Rfia

AT AR

R s @ @ 6 S TR

e 3, T g g e 36 ST

F Afim s A e i 8

(C) Rk raat @ran & 6 32 rwaiw €
I, Ru Mo awlt & F9 T8 T
FEEFd ¢ 5 wé a1 Ted
ﬁﬁﬂﬂmtmmla .

D) IRk F{w= ‘Rt ¥ ¥ 7' &,

- Futa, I8 Moty § Ry g awt &
Wi arETor W ¥ |

The women have been benefited much

with this government policy.

(A) if the inference is ‘probably true’
through not definitely true in the
light of the facts given.

(B) if you think the inference is
‘probably false’ though not
definitely false in the light of the
facts given.

(C) if you think the data are inadequate
i.c., from the facts given you cannot
say whether the inference is likely
to be true or false.

(D) if the inference is ‘definitely true’
i€, it directly follows from the
facts given in the passage. :

*
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61. ARenH F srwfhit w97 & fog et

ﬁwﬁm&ﬂ?ﬁmmml

(A) TR e wviRE w9 & ¥ b
 fre g awt & aers § fPfia
TWHAA AL L |

(B) Tt www wmm & & T
Afirs =7 & e’ 8, Auia T®
frg g A w1 @EA FA R

(C)af&mraﬁaﬂm%ﬁﬁ%amﬂh%
arh, fry g awd @ 9 T8 T
#g wFd & f e @@ T T
ﬁ%ﬁﬂmﬁ%ﬂ;qﬂla 5

() Tk FFE= ¥q ¥ ¥
suta, e mamm § Ry mg aen &
dy srgETr A R

Women should be given higher wages

than men to make them self-reliant.

(A) if the inference is ‘probably true’
through not definitely true in ‘the
light of the facts given.

(B) if you think the inference 18

" ‘definitely falsc’ ic., it contradicts

) (© if g','r.iu"thmk' the data arc inadequate

63. mwﬂm%ﬁmﬁafumﬁqmﬁ:
t

agnoscrenia T poisonous spider
delanocrenia &1 30 & poisonous snake
agnosdeery %1 37 & brown spider
farg ez 1 ard “black widow spider” 4
TEAE?
Here are some words translatcd from an
anificial language :
agnoscrenia means poisonous spider
delanocrenia means poisonous snake
ys 2BnOsdecry  means brown  spider
Which word could mean “black widow
spider” ?
(A) agnosdelano
(B) trymuttiagnos
(C) agnosvitriblunin
(D) deeryclostagnos
64. Tl & s g T Ry me g
myncabel ¥ 3 ¥ saddle horse
conowir ® It ¢ il nde
cabelcono %1 314 & horse trail
Ry 17a2 1 37 “borse ride” B w1 8 7
Here are some words translated from an

. ; artificial language :
i.e., from the facts given you cannot
say whether the inference is likely mynu!xl y i “dd].: l'K)ﬁl';C
ot mecr e il | B o
(D) i’f thc. inﬁr:rcnce ts “definitely true” Which word could mean “horse rde™ ?
ie., it directly follows from the ;
"y (A) conocabel (B) conowrr
facts gtvtn.ﬂ;t_bﬁpafigc. (C) myncono (D) cabelwir
62, RuTUTER FUTBARSTARGI T : | 5. Frmffm & § ¥ W= ZH WA W
1. W 2. fefd T, af? et T W) AUigERR | Sarad
3. felem 4, W farT TR ?
5. o€ 3R .- Which of the following words will come
Arrange the given words in the meaning- at second position if all the words are
fulsequence: © arranged alphabetically ?
1. Runout 2. Delivery |. Armmangement 2. Arrogant
3. Decision 4. Shot * 3. Arrest 4, Amal
5. Third Umpire S, Asrears
(A) 25413 (B) 34512 (A) Arrival (B) Arrogant
() 24153 . @) 23415 | @ Ameas (D) Ames
* 9 NN4
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6. nmﬂﬂiﬁmﬂmﬁﬂﬂﬂ‘ﬁﬁ 6s. wxpmai=t
st Q?ﬁtﬂi!t
s RETE+R
Find out that answer figure which is :mi N
embedded in the question figure. ke S
st TR / Question Figure { ﬂ45330?IORIZSIS
If P denotes +
i Q denotes X 178
=V R denotes + ”" B
Fwe st/ Answer Figures 3 & denotes = r'
Then what is the value of 45 Q 30 P 10
R12S157
w| Bl e (A) 202 (B)132 (C) 60 (D) 160
- 69. TR *+* T Y WA, = H AY N, ‘x’
(©) (D) @ maddg sk w w1 W
@mtmmnyt}mmm
ﬁ wY? A, |
67. 4WTEAP, Q, R 3 S I T TfEm HAR . H+'mmj"'nﬂ:;rdwishn, L
T w5 wEED AeRfna ‘x' means addiion and ‘%’ means
38 ttvme nnlml:ﬁnn.ﬂnadunthuehﬁ:mﬂ:nn
i aaer 2w 1 Q PR | what is the value 0f 22+18-3%5 7 |
R, Q¥ aen | shand Rk qw w8 p A (A) 25 (B)-25 (C) 185(D) -8
fphaad? 70. T Ix argfdt # & wx gy w W
. vt wfafr g7 |
ollowing are some information about a Choose the correct
family consisting of 4 members P, Q, R and q\mm&umﬂ:;::mﬁgnr |
E;.Pummmmmzchwmq mm;mgﬁ,nnﬂm 1
is the son-in-law of P. R is Q's brother-in- x;.-r-»‘* R
law. There is just one couple in the family. . @ -.’ 4
Who is the daughter of P ? S35 —ac ,, ~s 'i .
(A) R : ' : m.x ,u(gm‘f?’iltj‘: _‘:ﬁ?“

(B) 21 94iW /Data in

© Q
(D) §

NN4
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. Pefofes vr % aweniia smoRgmeEl | 72, af fedt i GRAPHICS 31 IOCMJHER
3 3 w9 waifis g R w1 @ % w9 § R frn v 8, A 9 W6
Hfm) HOMELESS #! fa ®ifga frarsmam 7 -
L, o pas A

T 93 T W o g o 2 § }Lomef%ss coded inttu}lfo% %ogi

Rt Rm A2 3 es fam e, {8} JLOROBUR (D) JLOBNCUR

m 73. mwunﬁzﬁgﬁm;tﬁ%

il ;

(A) T T8t At # & el o B 3 A Hﬁh%lﬁﬁwﬁgagtﬁm tzzﬁzﬁ*ﬂ!
aﬂtmrﬁagdzm%aﬁﬁm ﬁ%g‘sﬁm,ﬂaﬂwﬂﬂﬁ
e Ul TG TEEm ?

ﬁ@“ﬁmmaﬁ' ﬁ (A) e 127, 135 At F A

(B) Wt & afve 3T 36 Tt 7 2@ |

(C) Preran R w s v R
it w37 oft ¥ I & giua
01 A A9 2@ v |

(D) et oft thnf gdear Y wame fe
foram 31 T T |

To the following question, four probable J =4

answers have been given. Select the
most appropriate alternative as the
answer.

While passing through a railway line,
you notice that two trains from the
opposite direction are tuning on the same
line, you would-

(B) 127wy, 135 R F Az
(C) T 1:30, 130 &1 & wre
(D) T 12:30, 130 RA F a2
Wall clock gains 2 minutes in 12 hours,
while a table clock loses 2 minutes cvery
36 hours. Both are set right at 12 noon
on Tuesday. The correct time when both
show the same time next would be = ?
A) 12 noon, after 135 da;s
12 midnight, after 135 days
1:30 at might, after 130 da
12:30 at night, after 130 days
va & Wn dhwfaa 39t Ry
g & | 3w F w9 § waifus Iugew
faweq F1 977 fAfFQ
31g A F e & wfafe § ) %2 arem
¥ e fdears amew uw o wurdt @
#t Fwar & | Y
(A) IUrdt AT
(B) I8 91 UF T €U TGN |
(C) famwan & =¥ f& @1 wga v
a1 3 HTY TEA € TEA @1 g § )
(D) §TF T &7 |
To the following question, four
answers have been given. Select ;?;cnﬁ’,:
tate alternative as the answer,
ou arc a guest at a dinner. The hogt
asks you to take onc morc chapati after
your stomach is full. You wou
(A) take the chapati.
B ool
(C) politely say was t
and you have already eaten m:?lm
(D) make a blunt refusal.

T
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fyisr (v "HoAr 15 T 76) :#&-@mhﬁmﬂﬁ
wﬁwﬂﬂzﬁmﬁqmwﬂ%ﬁmﬂmz
18 B A, B, C, D, E, F.GsRHH IR

)

ﬁmggm%tl B, G 3 D %€=

Birections {(Q. Nos. 75 and 76) - Read the
information given below and then answer the
uestions that follow |
gigm ferds A, B, C, D E F. G snd H arc
sitting, in a circle facing the centre. B is sith
between G and D. H is third o the left of
and second to the might of A. C is snumg
betwesn A and G and B and E are not sitting
opposite to exch othef,

7S, Brefarfiad 3 & F19 at s w76 8 7
(A) C. D ¥ Tré sl R T AR
(B) A CHMR T AT
(C) E F3DERa L
(D) D3t A GHETRF TS
Which of the following statements 5 nat
correct 7
(A) C is third to the right of D.
(B) A Is sitting between C and F.
(C) E is sitting between F and D,
(D) D and A are sitting opposile to each

other,
prxRaFwuEA?
Who s third to the 12fi0f D ?
(AJE (B G (OA (DF
B s ot swim fom & 30 szl
foex zfamgtow fom 3 30 e wEm R )
o e & =g foan T 50 i ST
¥ 1 o, & s o i e & B
Emimwy?

(B) =fter-xiam-

(©) Wmgd () T

[ walk 30 metres in Nardi-West direction
Eoen l;? kouse and then 30 metres in
Souh-West diroction. After this ] walk 30

76.

7.

mesres in South-East disection. Now, | tem

% my house, i what direetion sm 1 going ?
(A) Notih-West. (B) ‘South-West
(C) “Soutlr-East (D) North-Eag

—p— S S

1V

1

]

1 T8, ﬂﬂm%ﬁﬁ_ﬁ;@‘limz ik

e ] mxaﬂitmﬁm.‘am
st 3 & 1w g W B A
myﬁﬁﬁmmtl | Tl

s &y S TR B
g o (1) F T W |

blem figures beass 3 =
Eﬁr?aliomhip 10 the firss hgure. Similarly,
one of the figure in the 8NFWEE TeS
bears ths same relationship 0 the figure
in the secord unit of the prablem figures.
You have to select that |
set of answer figures whic woukl come
in the place of question mark (N-
HHRT A { Problem Figures

5> ajo ald , (20
colg vl |Ooo©

(1) 2) 3 @)
I { Answer Figures

Cc Ol ICP0 00

v ol |lovl VO

-0 (D)

aﬁ'mmtmsmﬁ#m,faﬂraam
c3 g wrd 3t S v At e A
ok D off s =i AR T M 3 T
mi:\,a.n.cm:%mﬁmﬁz;&t?

(D) e, =figor, o, o
Airptanes A, B, C ond D started fight
towards ensL  Afler flylng 125 kms
planes A and D flew towards right while
planes B and C flew townrds loft. Afler
115 km, planes B and C flew towards
theit left while plares A and D also
tum=d  towards  their Jeft. In “which
directions are the airplancs A, B, D, C
chvel{ ﬂyin&now?
A} Enst, West, West; East
) South, North, North, South
C) Esst, West, Eaat, West
North, South, East, West

Nk
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g0. EefafGamm i agr s &) s
bl o
ST ® 136 T
gy aftt aw difaw | bl
M RaTF e ?
L AxpwgE
BRI M TR AR
afz 3 e 11 3 R T SRR
I 2 F e wain ¥y
o2 2 T ® a1 T R '
Wos T ¥ e T b
(C) IR seray [ 3 Ro e T wE
T Fhu et i
(D) afz 3% v 1 5 fan TR 321 W
Tq 2 ¥ e wdiw R
Following question is having two
semtements oumbered 1 and 1. You have
to decide whether the datn provided in
e stalements are sufficient t0 answer

the question. Read both the stalem=nts
and glve answer.

\-t-,‘c{cm

“(B)

Who is the father of M 7

. AandB are brothers.

II. B’s wifc is sister of M's wife,

(A) lfthcdn:ninnmzummnahmm
sufficient to snswer the question.

(B) If the data cvem in both the
statements  together  arc not

sufilcient to answer the gquestian.
(C) If the data cither in 1 or Il alane are

sufficient to answer the question
(D) If the data in statemens I adope are

suflicient 1o answer the question.

wﬁﬁ%wmkmmfliﬂ.
camt ok afmBFad SMPIEC
> s SR DH At SN AAR D, F &

0 o sivcdar ¥ | dfn s S DR WS HEE

qEwt|

OF the six members of a pancl s#tting n 2
row. A is 1o the right of C, but lef of B.E
s sxting kft of C and right of D, D is
sitting to the right of F. Fmxd the members

=% T #

82. 3 W vEA v, g M
mwzvaﬁﬁmsaﬁmwm
=5 %1 3t 3w 20 a0 ot | of o T
Wﬂt:
(A) 40t (B) 5578
(C) 4579 (D) 354

‘I‘hcasung:ng:nl’lmboniwifcmdﬁwh'
d‘_ﬂd3?=musow527ywsmﬂﬂmof
oy Wife 20d the child § yenrs ago was 20 years-
The preseot ape of the usband is -
(A) 40 years {B) 55 years
(C) 45 years (D) 35 ycars
q). FTn e AR sE Ry
T ¥ e A e e 2
Wt HEE = A R
w1 I T R, wE R
B e S e A |
(1. dra e, S o =, T
:Tr@:ﬂt{tﬁ?mﬁmm
\
(A}mn‘raﬁé1mﬂﬁni’rﬂmizr
Leivg 4
(B) 3% 1 fea Fowein &)
(O :rg!ttui‘lﬂﬁﬁm%amwm
|
(D) s 1 AT R
You are given B question ami WO
ctatements, Which of 1be sinlemsmts
is/are sufficiect 1o answer the question ?
Question : What s the cakur of
sunflower ?

Statements :
. Blue is calied white, while is called

red and red is called yelkow.

I Yellow is called parpk, purple is
called bhck, white 8 called brown
and brawn is ¢alled omange.

(A) Data either m | nlone or 11 alone is
sufficient.

(B) Data in1l alooe iz sullicient.

siting st the fwo cods of the row. (C) Data in both 1 and 11 10gether is not
(A) D.B (B) F.B sufficyent.
(C) AF (D) D.F (D) Datainl alone & sufficient

e I n"";-r -~

* A
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g1, smEpTEAGENERAGEN | gy 2 Ry g v F ox T IR D Rty
& Fr T g ffe she 11 frg g B | ot e & it
Find the angle between the hour band I S
and the micute hand of a clock at 5:20, et = e o 8, o ﬂmq“
(C) 40° (D) 15° whl Wi & W Fus § & wf FEE @
gs. 7T 194 AR TRT WY 3 'm;' 3 y
(A) d ) T ¢ THATE Treadi i e a3 w1 €
© * (D) T ﬁ Prext ;1. oAl wr Ew ag et @
What was the day on 7 December, 19417 t
(A) Monday (B) Sunday (1. S wie=al TR @ e |
(C) Tuesday (D) Saturday (A) ¥3R freed 11 ssqwer w1
. ) T 3E
86, 5 RusT, 1903 7 fsfen o 3 taan fB) s i Ao )
: et wdvts sk | 1997 3 3 Tnis W (C) A1 11 Sz avm &
FAERIEm? (D) ¥ee freed | ST w3 |
(A) AR (B) TR In question below is given a statement
(C) TFAR (D) qEAn fnllmmd' by two conclusions m:rnbf:n:d‘l
On $® December, 1993, Nirmala and and I1. You have to assune m-cryu:mg in
Raju celebrated their armiversary on the statement to be true, thea corsider
Sunday. What will be the day on their the two conclusions togesher and decide
anniversary in 1997 7 which of them logically follows beyond
(A) Thursday (B) Tuesdny n reasonable doubt fram the information
(C) Friday (D) Wednesday given in the statement.
Statcment Vegetable prices  are
87. SRR % S sy Ry g @ @ FouE 20 the market.
o v & o AN E, T o Ry 4 Counclustons :
s S TR | I Vepetables are becoming a rare
Faur pairs of letter-cluster bave been commaciay:
given out of which three are nlike in 1. People cannot eat vegetables,
3&#‘:0 manner, while onc & different, (A) Only conclusion I1 follows.
oo S (B) Neither I par I1 follows.
(A) CWX-AVZ  (B) TXB-QWE (C) Either Loe 11 follows,
(€} REA-ODD (D) NVH-KUK (D) Only conclusion I folkows.
NN4

14



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

89,

sl

i

TF B for mm & ot R @t Brewi - )
¥ 2 o oo & 1 3o o = e A B
TN oy IS vt Y R=E TR Y
fo T vig = 3 vy & argm I E 0
T BT T el T W sEE am
&

wu : g W o &, @ v o
Epiugaufl
Fres : 1, qlten 7 2ol 913 & Ry yRem
Tt I R ‘
2, &g s fief 0 |
(A) 22 FgeTEm R |
(B) =k off sgww T Far ¥ |
(C) 1 ¥ht2 2 s ET $1

(D) ¥Fer | FgEerwnn B )

A statement s given & then two ]

conclusions — 1 & 2 are given. You have

to consider the statement &s true though

it seems to be different from the actuzl

facts. Then give your answer regarding

the given statement that which of the

conclusion's Ware followed by &t properly.

Statement: [f be is an intelligent, be will

pass in the examination.

Concluslon:

1. It is required to be an intelligent to
pass in the examination.

2. He will pass the examination.

(A) Only2 follows.

(B) None follows,

(C) 1 & 2 both are follow.

(D) Only 1 follows.

90.

91.

% T ¥ 120 B F R $% I g
¥z, yratw st s 2w wwd 81 IR T
T & B o of 3 o ) O g T
Trentgn 43 e 10 ® | WA ek Uem
et TEI A e 40 & | WES TR A
¥ e T A R A AT A R 2

Out of 120 students in & school, $% can
play all the three gamss Cricket, Chess
and Carroms, If so happens that the
number of players who can play any and
only two games is 30. The number of
students who can play the Cricket alone
s 40. What is the total number of those
who can play Chess alon= or Carroms

alone 7
(A) 44 (B) 24
(D) 45

(C) 46

frefaiaa s A dm X, ysitz
T UE 92 8, J T % OF ¢hS & WA
w1 w Tt § | [T (2) 3wt W Rara
& R ¥ QT e T 6 W A

% WX I Iav Fwpfat fr g €
;T'-E'Tﬂﬁfa Q‘Fﬁiﬁaffﬁ ﬁtﬁf
A (2) F F{e §UFW § w9 AUF
firefieien

The following question consists of a set
of three figures X, Y and Z showing a
sequence of folding of a piece of paper.
Figure (Z) shows the manner in which
the folded peper has been cut, These
three figures are followed by four
answer figures from which you have to

‘choose a figure which would most

closely resemble the unfolded form of
figure (Z).

" 4

X )

(A) |o .uo' (B)

(C) 8 (D)

B 8

- &

c £ -4

4 ae -

15
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- vy o g e o & G W 8,
op, T omfadt i frefeten & & o mmmaﬁ:muﬁnm%lmm
v s % g g O & o & A7 s T a6 § A
' o o 8 ,
e g 8 2 Directions (94-95) : Each qugtlgavdsmgyhcg‘;
Which of the folowing cube in the answer consm:sm:fn u?n 'bs::édmfuahd T, You have o
ﬁglmcannmbcnndcbasadnnﬂw dzcxici‘wmogk}t‘@ ms i8 a ‘$trong
: : 7 a.rg‘u,n!:ﬂl w 5K ﬂgﬂlllﬂl
‘“‘f"m""b“"::mmﬁm 04 WUA : ¥ B W A WA WEE F
war STpf / Question Figure e EETF § 7
O T 1 ﬂ.zﬁf:% ;m'fm%l
Y. 1. =, & ST W AAE
X ﬁ ¥ |t m frp AT R
o%e (A) haaitu wIRA & | "
@) an1dadnaEEel
I AT { Answer Figures (€) TR
7( gm %aaatl[;tmtl‘ b
(A) # ~f8) ! ;rtlmgtts ;nufnabk':l?l‘:nt c‘ustn::n%:r .?n
X ' Arguments :
# . I K’}cs. h:l:!uu;m payhlncss. B
AC) gog ®) X IL. ) a?ﬁi yugr:gﬂ. talments upsets t
(A) Only argument 1l is strong.
(B) Neither I nor [T is strong.
03, fr=furftad 33 s A SR vEER A %g)) gumulmg?;u%
. y argun is strang.
n R R wm DT AE | e T ow R R 2
AfT W TE ¢ | ﬁ:l.ﬁ.rﬁmﬁﬁ:m?@!mm
In the following Venn disgram ilentify Rk L adiib g
the Jetter which denotes players who are naf, 3 Rw # o fat s
i i w3 ¥ T HEET R B e gy
a 1] not llnlst’. (A) ﬂﬂ’iﬁ'ﬁﬂﬁnﬂ?ﬂh
Pt S, i (B) TR AT ak 1Nt
c\ B \G (C) wfedrwk | TR Hwaga ¥
P\ E L““fﬂm (D) TR ¥ vk 1Tm |
Statement : [s kezming a continuous prooess ?
F Arguments :
I.  Yes, there is so much 1o learn and
i : 1, No, leaming '&tmmmm
S s e st Gegrcs n ok bt
(A) If only argument I is strong.
(A) E (B) A (B) If both arguments | and Il are strong.
() B (D) B+E (C) Ifneither argument I noe 11 is strong.
—_— (D) If only argument [ is strong.
NN4
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96. FrRiam st i Rt v 8 2 98. D W §1 3w o few e fem =
How many triangles are there in the
following figure ? &7
(A) ¥ -1FaR
' _(B) W™ - Grran
(A) 27 (B) 29 (C) I8 (D) 20
97. B TFA A 6 ¥ TR 8 ) 712 I ¥y (C) % —quam
w1 WA 7:9 &, Wi i 3y A Al | ©
) ii‘;liqﬁ_ﬁman

Sachin is younger than Rahul by 6 years.
I the mtio of their ages 15 7 : 9, find the |3,
ﬁ Which item is performed by D and ¢

age of Sachin.
(A) 21 (B) 14 (C) 12 (D) 23 l what day ? :
. 1 - o =L

wwt firg A, B, C, D, E, F 3% G @ § faan #% (B) Speech - Manday )
e i wr v & o a & sea i e g1~ C
nﬂmﬂﬁnmﬁmmmmﬁax (C) Play- Wednesday ©
R, & i, g, faftnd, v, arefaam, v 3 Micnicry - Monday *©
ben e S IETAE R cif g of (D) Mimicry - Monday TH-8 -

oo o S MRS | ettt

RIEER T VAR 1 98 | C. o6 $e¥i3 G & WA | .
o7t 3 8 1 D HIRaT F1 wviE o b A TR “mp“'f""'“‘"mb‘“f“ SR
A faar T | A TEEN” FA & F N F (A) D IS |

srrat 7 gt & | vfaam w e ot R I R (s _
Directions (98-100) : Study the Sllowing B C (- (VP17
information carefully 10 answer these questions: (©) F & )

Seven friends A, B, C, D, E, Fand G pcrf_'onn 73
in stage shows on a different day  from | (D) B - L
Mondzy to Sunday, not necessacily in the

| same order, Each one performs a differen: | ;2
item, viz. Music, Dance, Mimicry, Plsy, | o5 zmadzwmty |

Debate, Speech and Monologue, ot y
necessarily in the same order. . =
. B puﬁ-gm ‘Play’ on Thursdsy and E Who performs Dance —F*
| performs ‘Music® on Sunday, G performs (A) F 3
‘Mimicry’ but not on Tuesday or Saturday. .
| C's performance is on the pext day of G's (B) CTWor D 0
l performance. D performs on Monday but not Fae £
? '‘Dance”’ or ‘Debate’. A performs 'Mombgue‘ (C) D - o
which is on the next day of *Speech’. ‘Dance ] . _
is not performed on Saturday. ( C
| 17 NN4¢
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Addair
wr-3/Part-3
AT FAFI / General Awareness
IOI.WﬁﬁmmWWﬂH |o4_ﬁ~rai:1ini1uﬁﬁ:ﬁ?f"uguﬂﬂM"m
) ¥ U W A T ? A RAwT RN YR ?
(&) Sl ) S (A) T (8) ¥®
" mm (€) = (D) ¥==h

102,

(C) ko (are) witfEw, 1986
(D) :2 o H Team e B

, 1981
Which among the following laws came
into force soon after the Bhopal Gas
Tragedy ? .
(A) The Wildlife (Protection) Act, 1972
(B) The Water (Prevention and Control
of Pollution) Act, 1974
(C) ‘The Environment (Protection) Act,
1986
(D) The Air (Prevention and Control of
Poltution) Act, 1981
el @ 0 OEE qE % sy @moa
fretattm § & B dmA = 1431 sy
e e &2
(A) Fw=mmaTeT (B) fre @z
(C) R ds (D) StEihT
Recently, Indian angm Ajay Banga has

been appointed as the [4® President of

which of the followmg mstitutions ?

105.

106.

Which country's rescarchers discovered
the “Invisible Galaxy” or “Black Galaxy’?

(A) France (B) Russia

(C) Egypt (D) laly

ey gt 3 B oey | e 99 b
1 8 e e R 7

(A) aman (B) T

(C) fzm () fafrem

In which state PM Modi virtually
maugurated “Jal Jan Abhiyan™?

(A) Assam (B) Rajasthan

(C) Odisha (D) Sikkim
frafafas & @ fsw tow 3 RO w3, w7
wafr 7 i@ A e ?

(A) fafreT (B) ROy

(C) A (D) fgu

Which among the following states

(A) World Trade Organization ls?;i?ifhfﬁc Guctdizmtﬁgh‘ MES
(B) World Health Organization (A) Sikkim (B) Meghalaya
(C) World Bank o
(D) Intemational Monetary Fund (C) Tekngana @) T &
103, Wi Tt e R Sher el " 107. Frfafas & & S99 @ 30 e ¥ 92
v R s el Tt € YgEH F WG & o W ®
g am R, Fefafr s afmm i w PR
el P A TR S 8 7 mﬁ ' :
€ -*ﬂfgiﬂ 1 (D) ﬁhi (C) *hem (D)
upen Hazarika Sew™ also Which among the following countrics is
referred as Dhola-Sadiyn bridge, is the promoting tourism targeting India by
bongest bridge in ladia over water spans identifying sites linked to Ramayana ?
;:;‘h pex fikang lhcé’gl}h;}u;g tivers ? (A) Norway (B) Cuba
Desang it
(C) Kopili (D) Buroi (C) Sn Lanka (D) Greece
NN4 18 o
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108, srefia & 3 ffifes & & R o & iy

S wiafbn oefi o v R o
(A) Wurerg (B) BHmams
(C) ehamn (D) s s o

The Indian Army installed the tallest
‘Iconic National Flag® in which of the
following states 7
(A) Mcghalaya
(B) Chhnttisgarh
{(C) Haryan
(D) Jammu and Kashmir

109. F2ty 3l <oft 31z fie o 3 fsfaifaa |
a frm R w el s @ S

112, v ¥ Pefafaa § 3 e o # sRm S

TR E 1 @ e e ke
(A) =t (B) faEm
(C) TEag (D) T

In which among the following states of
India, has the workl's longest mailway
platform been inaugurated ?

(A) Kamsataka  (B) Bihar

(C) Maharashtra (D) Gujarat

‘IIB.WWWWM

IedtaTTd (AR T 2ErEr v @, @
]9
(A) srd=mear § fa )y BT |

mmﬁﬁ;ﬂ:?mamm ‘o (B) Snéararnd ol et |
> (C) =1 & Ayfd wgrem AT we F
(A) ST (B) Wit -
(C) wworedt (D) Wit (D) 3ré=ramn & 63 ) sreff ot s mr
¥n§on Minister :ihr; N;edm Singh T T | -
omxr” insugurated the s essin . .
and storage fhcility at !udianpgcuslmg W}u:n Cash Reserve R‘.“'o. (CRR) &
and Fodder Research Institute at which increased by RBI (CRR), it will
of the following place ? (A) Increass  moncy supply in  the
(A) Agrs (B) Bareilly cconomy.
(C) Varanasi (D) Jhansi (B) Decrease money supply in the
110, 3T Y297 §UER 3 e 871 S F wEw cconomy.

foe & faeaw ad 8 dtsw (C) Increase  supply initially  but
(ODOS)T Faen, e Wen) & mniter vt 3 decrease automatically later on.
e dz e aerfash (D) Have no impact on money supply in
The govemment of Uttar Pradesh has the economy.
isken the coosent of tbe Central | y14, gov i & fem fird & wiRvemsll w1 32

vemmoent 5 ~Wise
sports of . districts under the Khelo e & fafir= ot & svd ey e
India scheme to include them in the W A & foe HerEd &= Jumen
ODOS (One District, One Sport). T EAR
AE. ®2 (0 M7 (A) TR (B) 5@
111, “FoR wvrEAr wWRE &1 T & S

o / St W & e fr ey () ¥mmr. (D) W

Prech In which distnt of Uttar Pradesh
(A) (B) W ‘Mukhyn  Manmi Kanyz  Sumangala
(C) T (D) g@ Scheme* has been launched for providing
“Operation SADBHAVANA™ was baunched conditional cash transfers 1o god children
in which state’UT by the Indian Army ? 8t different stages of therr life ?
(A) Delhi (B) Puducberry (A} Sulianpur (B) Lucknow
(C) Lakshadweep (D) Ladakh (C) Sitapur (D) Pratapgarh
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Addadr
115, SR AR i ammfi @ o {119, m:?ﬁ?amﬁﬁumﬂ?ém
¢
(A) mnﬁmﬂﬁmmu%m Eg ;:rqwéﬂ Eg;;ﬁ;q
® m o g ich of the following states, world's
© ﬁﬁﬁm“?m l%:%c%f?r }?ME iimft:d d
a r'radcs
(D) &= & ot anit & ferg awH I | EB; G:a {
The meaning of “social equality” in the %g; ﬁsms_:{:
Indian Constitution is :
(A) Equal chance to women only. 120, %’g@“ % & A W ol A T o

116.

.

(B) No cffort should be made to modify
the existing system.

(C) Partiality towards Elite class,

(D) Equal opportunities for all sections
of the societics.

“fag e @rer faa @ e e

8) 2023 T T 4T ?

(A) 2094 (B) 169

(C) 117 (D) 189

When was “World Oral Health Day”

2023 observed 7

(A) March 20 (B) March 16
(C) March 11 (D) March 18
i g Ry ot e d . e
afEh g

(A) SFaTeE (B) &ie

(C) Freftam (D) TreTiEE)

“The Pashupati Seal” is found from
— sitc of Indus Valley civilization.
(A) Banwali (B) Lothal

(C) Kalibangan (D) Mohanjodaro

121.

122,

(A) Shadiggdt  (B) yHFIEnieA

(C) & (D) asifrnr

Which of the following is the smallest

bone in the body ?

(A) Femur

(C) Stapes
s ?

(A) TTEIH HeHEE

(B) T HETEE

(C) rggw iFames

(D) ATEZI ITRHTHTEE

What s laughing gas ?

(A) Nitrogen sulphide

(B) Nitrogen peroxide

(C) Nitrous oxide

(D) Nitrogen dioxide

frafafte & & @ @ fafe, oo

Fiftrrreii & fnfor & ferg weeaqei @ 7

(A) ffim C (B) frafm E

€ Rafmp (D) fefB-2

Whnc# m?tf }h" ttin:]:lll.-nta_vi:ug vitamins, is

m X ?or e formation of red

(B) Occipital
(D) Tibia

118, P # ke A Viami C et
© APPU (Rt Ufufr i g = C;Vit&mmED 8; gimming-u
T s 3o 123, STt WA ¥ Pt f & B
gg; % (B) ot T a9
(D) v (A) A1
Which among the following countries © 2%; ((g; i iy
takes charge of APPU (Asian Pacific The Mishmi tribe is the resident of which
Posta] Union) in Bangkok, Thailand ? among the following states of India ?
(A) France (B) Ireland (A) Manipur  (B) Arunachal Pradesh
~(C) Taly (D) India (C) Karnataka (D) Odisha
* NNg 20
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124. ;ni’r v R e ) wedh wenmd |
?
(A) S (B) FREE
(C) AW (D) BTG
Garo and Khasi are the associate official
languages belonged to which state ?

120, TRUE T AT T IR TG CCCEE
FR SR A TR L ?

s (B) VT3
(C) 332330 (D) IR 338

Which Article of Constitution deals with
National Commission for Scheduled Castes ?

(A) Meghalaya (A) Article326  (B) Article 333
(B) Jharkhand (C) Article 330 (D) Article 338
(C) Andhra Pradesh 130, P i & 2 ot didi 3 gzt A
125. Frefrfag & & 2 @1 vgen A ETE 9 dyoun (A) VVLS!
Praverrre 2 <0 ade i S 3 FERE € 2 (B) nfEReRme R
Which of the following is the first and (C) gfx
: S
li;rlg':;ntil?cposunry peescatly s %ﬂ t%? fql]owing is the ?foundation
(A) CDSL (B) UBI ?i)ﬁ%gg{:mtmn computers
(C) BSI (D) NSDL (g) ¢niﬁcia1 Intelligence
; F ransist
126. mmmwﬁmﬁ ED% TamSion
(A) 104t (B) gd?:_qigfﬂ 131. zﬁztmﬂﬁmﬁrfﬁﬁ&%amﬁm
(€) (D) 1131 S Ny
In which schedule of the Indian 22; @ﬁ-‘!ﬂz ((g; W—‘I—I:H
SC;I:;I;“MB LA EIE P Todar Mal was known as which of the
(A) 10" schedule (B) 8% schedule {zl)lomi"i-m (B) Khan-I-Khan
(C) 9®schedule (D) 11 schedule (C) Aziso-Din (D) MustrifFl-Diwan
127. ﬁrwﬁmmﬁmﬁa‘"ﬁmmﬁﬁm 132, FawE R wrdau &
g2 (A) IO v 3 atg TEREY W &
(A) e B) faex fa=1
(C) T (D) T (B) FaL-ufEr wra & wa & fafia wsedt
World famous “Mathania Mirchi” it e | |
belongs to which state? (C) v 3 wfipht fewrerft 87 ¥ wh =i
(A) Odisha (B) Bihar fafia S F9ETI
LT e Rkt S
128, T 3 e 6t Ry I T At W A) A R dawiag on bambg
AR am A T 7 handicrafts in North-East India.
I s T
(© swiee (D) FewH C) A block painted woollen cloth §
The mwmm?ﬂ Western Himalayan region of Indi;_n
o e (B) Mesophte () A heod puinted coton textile iy
Ecﬂ Hmphﬁe (D) Xerophytes SO
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h ﬂamm%ﬂmﬁnfaﬁﬂﬁ%m&? | 138 zf:: ::ﬂmﬁﬂﬁﬁ’“ﬁmm“
(A) R ) RELRISA
(C) S e (D) T | . (A) THER E%))m
E;‘Ou%dﬂc{h: i;aﬁ::rl_;glgmgdom e ln) which of the following states, 18
(A) Aditya l alma Sanctuary ate}d?

(B) Vijayalaya Chola
(C) Arinjaya Chola
(D) Parantaka Chola |

‘. Mﬁﬁam%mmm

(D) T A SN
Due to which incident did Gandhiji call
of the Non-cooperation movement ?
(A) Chauri Chaura Incident
(B) The Bengal Famine .
(C) Appointment of Simon Commission
(D) ori Train Robbery

35 °

Ra TR

(A) TR (B) TAE

(C) i feE (D) AR
“Blitz” term belongs 10 which of the
following sports 7

(A) Hockey (B) Chess
) American Football (D) Basketball

136.
Smarcor P 2 PR TR ¥ 7
(A) T (B) W&
(C) RaFw® (D) FTIH

The first-cver automated, driverless train

in the wor unveiled in which
country ? .
(A) Germany ) India
() Switzerland ) Japan
137, ¥ 1ﬁ1mﬁﬂmﬁﬂﬁf@ﬂﬁ%m
T Ead e FEee U ?
(A) 3 (B) WY
(C) Tt (D) It

Nhlnpq:ada&omﬁ"to, 14 cc

Prfrfe & PFE A A

zﬁmﬂmmm,wmhm

Which of the ﬁmnwhgmthcmgaw‘m

1

141.

(A) JM.L doh
Billcmn

(C) Margaret Thatcher
(D) Nelson Mandela

BT T
(A) FEEA RN  (B) e
) dimama (D) fuferw

Which state of India docs not touch any
international boundary ?

(A) Arunachal Pradesh (B) Telangans
© West Bengal (D) Sikkim
ﬁummaﬁMamt.ﬂt:

(A) TEEI (B) W

(C) = (D) TR
ummwmmmnnhh:
(A) Jupiter (B) Uranus

(C) Neptune (D) Satum’

o 3 Rreg i i 2 P it

Y

(B) Fregean & (A
() 14 & ¥ T W ¥ A= & I W
piicel

(D) Tt g
Right sgainst exploitation does
include which prohibition 7 =
((g% %hibgtgun of forced labour
hibition of untouchability
(C) Prohibition of
children below

14 cn.lﬂoygncnt of
(A) . rs ol age
. © Voihali % Vajji (®) Probbiion of ratheing

‘m
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143, famime Rreferrem £ wmr i wdie

144,

145,

146,

fthed TF ot 7
(A) WiEM &I (B) anfiz O
(C) whade (D) T UNHIE 14

Visva-Bharati University was founded
by which Indian personality ?

(A) Rabindranath Tagore

(B) Aurobindo Ghosh

(C) Annie Besant

(D) Raja Ram Mohan Roy

P # @ 99 @ 20 It st
ﬁﬁmm&mmmf%zwmw%?
(A) (B) '
(C) s (D) T

Which of the following countries has
become the 31® member of the North
Atlantic Treaty Organization (NATO) ?
(A) Germany (B) UK

(C) Finland (D) Denmark

T @ & vy g cEr awE
Ty S-SR, SuEE JUl @R
woelt fafea ok @ | 39 wn = fafie
YRR FTE?

(A) 7 Pt R

(B) ¥-99 @I @1

(C) Tt fameft @

(D) BRI &1 9a T Je R
Recently, a mobile artillery-locating,
phased amay radar system named
“SWATHI" has been developed by India.
What is the specific type of that Radar 7
(A) Coastal Surveillance Radar

(B) Surface Search Radar F

(C) Harbour Surveillance Radar

(D) Weapon Locating Radar

B RigeaT @ &, 3 R, TR,
o, T sk Peam F R R, frm v
T & AT AT g 2

(A) 49 (B) " wew

(C) faer (D) T

‘Hola Mohalla' a festival, thatis all
about warriors, bravery, victory, glo
and fearlessness, celecbrated in whic

BRI (3 i
]
(C) Bihar % Rajasthan

147,

148.

149,

lm‘

mﬂﬁ,m%uﬁamﬁwaﬁ
Hfaum & e 3= & T faam &
WU fa=d & IM W aEE &

ftrwr R § 2
(A) BT 141 (B) =% 130
(C) ¥ 148 (D) =% 142())

Recently, The Supreme Court of India
has granted couples the right to divorce
on the grounds of “irretricvable
breakdown of marriage” under which
Article of the Constitution ?

(A) Article 141  (B) Article 130
(C) Article 148 (D) Article 142 (1)

&g E o A me ¥ few & &

ﬁaﬁw F F fore srmaRa awifterh
TR, VT QOeRTC e forat 2

(A) smsFFd  (B) TR

(C) fafear (D) s

Amit Shah, the Union Home Minister,

presented the ‘Maharashtra Bhushan’

Award to Appasaheb Dharmadhikari for
his notable work in which field ?

(A) Social work  (B) Agriculture
(C) Medical (D) Ant

- A W FEfofea § ¥
TSR Wev A d 7

(A) e ww s e

(B) dara 3R fimraer wam

(C) Iwuas AR e

(D) fewmaa v stk Iz

Bara-lacha La Pass connects which two
states/UT among the following ?

(A} Himachal Pradesh & Ladakh

(B) Punjab & Himachal Pradesh

(C) Uttarakhand & Ladakh

(D) Himachal Pradesh & Uttarakhand
R 89 & wow smfw e
T TR0 w9 & qiad T i g 2

(A) SRQF% IR (B) Fwiaia Tz=
(C) 7eedt=gR (D) I EH
Which the folowing rocks show
change in forms by immense heat ar presure -
(A) Phutonic Rock
(B) Metamorphic Rock
(C) Sedimentary Rock
(D) Igneous Rock
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